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1 NADH - 3 ATP

1 FADH, - 2 ATP
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[ Sl Uyl ]

2 NADH x 3 ~ 6 ATP
| gl e das) |
2 NADH x 3 - 6 ATP
[ e S B 99 ]
(2 KTR
6 NADH x 3 - 18 ATP
2 FADI-I2 X 2 - 4 ATP

40 ATP
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J

[ Sl Uyl ]

2 NADH > 2 IE'I-&DI-I2 X 2 - 4 ATP
| gl e das) |
2 NADH x 3 - 6 ATP
[ ek S B 9o ]
6 NADH x 3 - 18 ATP
2 FADI-I2 X 2 - 4 ATP

38 ATP
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36 ATP = 4élal) ddUal) 4348 -2

[ Sl Uyl ]

2 NADH > ZFADngZ - 4 ATP
| gl e das) |
2 NADH x 3 - 6 ATP
[ ek S B 9o ]
6 NADH x 3 - 18 ATP
2 FADI-I2 X 2 - 4 ATP

36 ATP
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1 NADH - 2.5 ATP

1 FADH , - 1.5 ATP
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[ § Sl jUaddy) ]

2 NADH x 2.5 - 5 ATP
[ byl aaians |
2 NADH x 2.5 - S ATP
[ S B 99 ]
zETR)
6 NADH x 2.5 - 15 ATP
2 FADH x 1.5 - 3 ATP

34 ATP
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